Goteborgs BF
DM-lag, Final, match 3:1

IMP 6ver féltet, 8 bord, 16 par. Antal brickor: 8.

Plac Par Poéng Namn MID
1 103 2.18 Peter Norrhede - Géte Berntsson 2488 92122
2 302 2.14 Magnus Eriksson - Cecilia Rimstedt 1170 78586
3 2 2.11 Arne Larsson - Tobias Térnqgvist 12173 16484
4 301 1.93 Borje Dahlberg - Per Jansson 4744 2485
5 204 0.79 Alf Kummer - Joakim Olsson 13364 80478
6 3 0.43 Carl Ek - Jan Troberg 5294 4845
7 104 0.11 May Moore - Bjérn Wenander 4867 4856
8 1 0.04 Per Ostlund Mitchell - Robert Back 11850 11174
9 201 -0.04 Goran Selldén - Anders Brunzell 4863 12576
10 304 -0.11 Matti Lepistd - David Bryder 14649 3176
11 203 -0.43 Tomas Andgren - Ingemar Assarsjo 49953 647
12 4 -0.79 Oscar Hult - Emil Vall 12879 47682
13 101 -1.93 Bjorn Sorling - Bo Roos 80438 13691
14 202 -2.11 Roger Andersson - Harald Sjoman 4855 8915
15 102 -2.14 Rudi Knutson - Ingvar Grahn 4857 5064
16 303 -2.18 Lars-Ake Gustafsson - Thomas Therkelson 17359 4805
17 4 Kn874 Bésta kontrakt 18 » 86 Bésta kontrakt 19 492 Bésta kontrakt
Nord vE104 2NTND-1-100 |Ost v ED965 34 O =-140 Syd v EK863 3v S =140
Ingen +D3 NS + D9 ov ¢+ E10
#E987 & ¢ v & NT #K963 & ¢ v & NT #Kn987 & ¢ v & NT
4 KD963 & E52 N7 87 47 4 Kn973 4 ED102 N65846 «ED86 #1053 N6 69 67
v6 vD8732 S78757 v 104 vKn72 S 65846 vD7 v 109 S66 977
¢ K62 ¢+ E84 O5 4586 ¢ KKn84 ¢ E106 06 8597 ¢ Kn84 ¢ D953 O76 366
#DKn65 #43 V54586 »E42 #DKn5 V68597 #EK53 #D1042 V76 366
410 4 K54 4 KKn74
v KKn95 v K83 v Kn542
+ Kn10975 47532 + K762
#K102 #1087 »6
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
102 302 34 V-2 +Q 100 29.0 -29.0 1 201 44 O-2 ¢3 100 22.0 -22.0 1 201 3y N+1 #4 170 13.0 -13.0
103 303 44DV-1 &A 100 29.0 -29.0(101 301 3NO-2 ¢3 100 22.0 -22.0(103 303 2y N+2 T 170 13.0 -13.0
1 201 3&«N-1 2 -50 10 -1.0 4 204 44 O-1 v3 50 9.0 -9.0(104 304 2v S+2 &A 170 13.0 -13.0
2 202 3vS-1 2 -50 1.0 -1.0|102 302 2NO-1 5 50 9.0 -9.0 2 202 2NS+1 46 150 70 -7.0
4 204 24 V= ¢Q -110 -13.0 13.0(104 304 44 O-1 44 50 9.0 -9.0 3 203 2¢v N+1 T 140 6.0 -6.0
101 301 24 V= 8 -110 -13.0 130 2 202 24 O= 3 -110 -21.0 210 4 204 2v N+1 &5 140 6.0 -6.0
104 304 24 V= vA -110 -13.0 13.0 3 203 24 V= «6 -110 -21.0 21.0(101 301 INV-1 vA 100 -3.0 3.0
3 203 24 V+1l +Q -140 -21.0 210|103 303 24 O+1 +3 -140 -29.0 29.0(102 302 INDV= ¥6 -180 -55.0 550
20 « D973 Bésta kontrakt 21 D962 Bésta kontrakt 22 « E102 Bésta kontrakt
Vast v EK643 2NT O =-120 Nord v Kn92 44 O D -3 500 Ost v EKD98 2NT S =120
Alla ¢- NS ¢ Kn9743 ov + 984
#ED52 & ¢ v & NT *Kn & ¢ v & NT #102 & ¢ v & NT
~E84 & KKn2 N6 77765 454 4 E1083 N 6 108 9 9 « D65 4 K973 N6 77 68
v8752 D10 S6 7775 v 6543 v K107 S 6 107 9 9 v732 v 1054 S 67 86 8
¢ 107 ¢ ED983 0765538 2 + D865 O7 3544 ¢ EDKNn107 ¢6 O7 6575
#K1063 #Kn98 V768667 #E98432 #K5 V7354414 #Kn9 #ED753 V76575
41065 & KKn7 4 Kn84
v Kn9 vEDS8 v Kn6
¢ KKn6542 + EK10 + K532
*74 #D1076 *K864
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
3 203 2¢DO-3 vJ 800 89.0 -89.0 3 203 INS+2 #3 150 15.0 -15.0|103 303 24D O-2 vJ 500 64.0 -64.0
2 202 2¢DV-1 ¢2 200 19.0 -19.0 (104 304 24 O-3 ¢A 150 15.0 -15.0 3 203 INS+2 +Q 150 3.0 -3.0
1 201 1v N+1 &8 110 10 -1.0 2 202 INS+1 &3 120 8.0 -8.0 4 204 INS+1 ¢J 120 -40 40
101 301 1v N+1 &8 110 1.0 -1.0 4 204 INS+1 &3 120 8.0 -8.0 1 201 2vN= ¢6 110 5.0 50
103 303 2v N= #8 110 1.0 -1.0|101 301 2¢ S+1 &5 110 70 -7.0[102 302 2v S= +6 110 -5.0 5.0
104 304 1v N+1 &8 110 1.0 -1.0 1201 240-1 ¢A 50 -8.0 80104 304 2y N= ¢6 110 -5.0 50
102 302 2¢ S-1 ¥8 -100 -34.0 34.0|102 302 2# O-1 ¢K 50 -8.0 80 2 202 INS= &2 90 -11.0 110
4 204 3NS-4 &6 -400 -78.0 78.0|103 303 3NS-1 &5 -100 -37.0 37.0({101 301 INS-1 ¢J -50 -37.0 37.0
23 4 K96 Basta kontrakt 24 a4 Basta kontrakt
Syd v KKn95 24 V =-110 Vast v E983 4v SD-1-100
Alla + 8654 Ingen + D954
D2 & ¢ v & NT #10753 & ¢ v & NT
4 D32 4 EKn85 N7565€6 4Knl10873 4K962 N6 4836
vED3 v 842 S75656 v7 v K10 S6 4936
+103 ¢ ED972 06 85 85 ¢ EKn1072 ¢ K83 079496
#109654 #7 V68786 *E9 #DKn82 V7949€6
41074 &« ED5
v 1076 v DKn6542
¢ KKn +6
#EKKn83 *K64
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 202 2¢DO-2 ¢2 500 69.0 -69.0 4 204 54DO-2 ¢6 300 72.0 -72.0
103 303 INV-3 ¢5 300 44.0 -44.0 2 202 44DV-1 44 100 46.0 -46.0
1 201 INV-2 ¢5 200 26.0 -26.0|103 303 54 V-1 vA 50 37.0 -37.0
104 304 INV-1 «Q 100 8.0 -8.0 3 203 5vDS-2 #A -300 -22.0 220
3 203 2#S-1 42 -100 -25.0 25.0(102 302 5vDS-2 47 -300 -22.0 220
102 302 INV+2 v6 -150 -34.0 34.0(104 304 5vDS-2 &A -300 -22.0 220
4 204 24DS-1 T -200 -440 44.0|101 301 44 V= vA 420 -41.0 41.0

Goteborgs BF, DM-lag, Final, match 3:1, sida 1 av 2




101 301 INN-2 +2 -200 -44.0 44.0 1 201 54 V= v8 -450 -48.0 48.0

Goteborgs BF, DM-lag, Final, match 3:1, sida 2 av 2



